Partner Problems for fx]oonents

Solve the foffowing exyonentia[ exjoressions. Partner A will solve the ﬁ’rst column. Partner B will solve the
second column. You should get the same answers. f]f you cﬁm’t, discuss how YOU got Your answers, see where

the }oroﬁfem is, and work togetﬁer to fix the mistake.

Partner A4 Partner ‘B
(4ab)(a3b®) (2a%b?)?
(4m—2n4)3 m—6(8n6)2
g7h6 (gh2)3
g*
Bk~ p)(Bkp™) 36k~ 1p?
4k—1p5
3xty* Bx*y®)(2xy?)~!
2xy~2
(3s73t?)73 355t
81s~4t7
4x8(8xy)~? (4x~3y)72
35utv3 (4u®v”)(3v?)
(7u?v)(5u*) 12u8v’
m*n3(2mn)* m2n(4m3n?)?
(2x~*y™3)3 16y3
2y~2 (2x6y5)2




Partner Problems for fx]aonents KEY

Solve the foffowing exyonentia[ exyressions. Partner A will solve the ﬁ’rst column. Partner B will solve the

seconcfcofumn. You Sﬁoufc{get tﬁe same answers. f]fyou dbﬂ’t, d‘l’SCUSS HOW you gOt yOUT answers, see wﬁere

the ]aroﬁfem is, and work togetﬁer to fix the mistake.

Partner A4 Partner ‘B
(4ab)(a®b®) (2a%b?)?
4a*h® 4a*h®
(4m—2n4)3 m—6(8n6)2
647’112 647’112
mo mo
g’ h® (gh?)?
g4
g3h6 g3h6
Bk p)(Bkp™) 36k~ 1p?
4k—1p5
9 9
p? p?
3xty* Bx*y®)(2xy*)~!
2xy~2
3x3y® 3x3y6
2 2
(3573t2)73 3s5t
81s—4t7
9 s?
s
27t6 27t6
4x8(8xy) 2 (4x~3y)72
x® x
16y? 16y?
35u*v3 (4ubv”)(3v?)
(7u?v)(5u*) 12u8v’
v? v’
) u?
m*n3(2mn)* m?n(4m3n3)?
16mén’ 16mén’
(2xty=%)° 16y3
23:}‘2 (2x64y5)2
x12y7 x12y7




